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the candidates to read the
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Note :

vi) S S T 308l 3 W FHT T A
T |

i) There are 1n all eight questions In

ii) All questions pt\g
r&ch question,

to be

this question paper.

iv) Marks allotted to the questions

are indicated against them.

v) Start from the first question and

proceed to the last.

vij Do not waste time over a

748539

question you cannot solve.
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1. Attempt any four parts of the following :

a)

b)

748539

- Find the angle between the vectors

/\ /\ /\ /\
2i—-j] and 2]+ k . e

If y=sin (xe” ) then find the value

[ @ )
By vector the equation

\ dx )
‘6
of theWl 1c passes through the

. — 1, 1) and parallel to the

of

sin \/_

Evaluate : j

POl
. By N
line vector 21 + J . 1

If a line makes angles 90°, 60° and

30° with the positive directions of

the x, y and z axes then find the

direction cosines of the line. 1
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2. Attempt any four parts of the following :
“a) If y= xS7% then find the value of
( dy ] _ | 9
dx

b) Solve the differential equation

2
§g+1+y = (. | £,
dx Y

L g

c) Find the vector perpen@la‘\o the

vectors

PA

/\ N\ N\ |
31+ 2i-2j+4k . 2

d) Eval@ate: I———qx—— - 2

1_6—2.1(3

e) Find the angle between the lines

x+3 y-—1 z+3
> S 4
+

and

by vector

—
[—
W

method. . 2
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< D 'Attempt any four parts of the

following :

a)

b)

d)

748539

Find the differential equation of the

circles whose centre 1s on x-axis and

the radii are a. _ 2
Evaluate Linl. L C3F
l + tan x

bG@ \o, then ‘

[f three vectors a

such that a +

Find the differential coefficient of
eSM X with respect to fsin x. 2

Find the Cartesian equation of the

- plane which passeS“ through the

point ( 5, 2, - 4 ) and perpendicular
x -1 Y zZ+ 2 P

to the 1
0 e*me T T3 =3
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4. THAIET T 9 el 919 @UEl i 867 hIWT :

+) qqu=2x+3yﬁ3?ﬁlﬁﬁqﬂ3lﬁ
HITTT Fateh Uiaey = &

-x20, y=0, 'x+2y£ 10,2x+y§_14.

dy xy+y+x+1ﬁgﬁﬁﬁml3

dx
1{ 2x
) J.sin_ 5 dx 1 HHE JAd
L+ X '
hITTT | 3
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4.

Attempt any three parts of the following :

‘a) Find the maximum value of the

function z = 2x + 3y wunder the

following conditions :

x20, y=>20, x+2y <10, 2x+ y < 14.

b) If a, b, ¢ are th fe x\tchen
prove th

a+b é

3
c) Solve the differential equation
dy _
+y+x+ 1. 3
Al T yrx
d) Evaluate : J‘ P B \ dx.
, 1+ x ),
3

- 748539
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frfeiaa § 9 forl Ji9 @Usl &l &1 hilST :
&%) gieyr fafy g0 guaelt 2x + y - 2z =5

ﬁﬂTSx—6y—23=7ﬁ?aﬁ?$f_WﬂFf

iy | ' <3

@) 3gehol GHIHIT

dy _
dx

& &A m”rﬁﬂ{ |
1T) ﬁcﬁdﬂﬁﬂﬁ?x—

(tan y ) sin(x+y]+5in(x—y)

3

(tanx)dxﬂfﬂ:ffﬂ'ﬁ

ﬁf?rq | 3
Attempt any three parts of the following :

a) By vector method find the angle
between the planes 2x + y — 2z =5

and 3x- 6y —2z="17. 3
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335(QF) 12

b) Solve the differential equation

(tan y ) g—y- =sin(x+y)+sin (x-y).
| dx
3
c) Prove that at x= é— the function
f(x)= x* has minimum value. 3
m/2

- d) Evaluate J log , ( tan 5)“ "3

O. ks g }&;liﬁQ :

| L Z e

& s gfew
R 1T ity | 4

2x'-—3y-£ 12, x>0, y=>0
U6 fafy §RT Z = - 50x + 20y
AdH 99 FTd iU | 4
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Attempt any one part of the following :

a) By vector method find the shortest

~distance between the lines |
x -1 y =1 VA

= =~—— = — and
2 =1 1
x-—2_y—1__z+1 4
TR

b) Find the minimum value of

=~ 50x + 20y by graphicaf d
under the {following Gns

( restrictions ) :

ey

<12, x20, y=20. 4
fafﬁﬂﬁgdﬁ@mwwsmrmﬁﬁﬁq

F) AT y?= 4x a4l Wi@y—Qx
§RT fER &2 &1 &7 &%l T1d Sied | 4
Q) fgg i 6

T/ 2

: | .
J. 1/1+ tan x S 4
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7. Attempt any one part of the following :
‘a) Find the area of the region bounded
by the parabola y2= 4x and the
Straight line y=2x. 4
b) Prove that
/2
8.

=(1+2j+3k)+A (27 +3] +4k) &

ACA oAl A A8 A
=[2r+31+4k)+p(31+4]+5k)

AT & | ' 2
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§) g G ax? + by? =1 o
‘a1x2+b1y2=1 W@iﬁwtﬁ

8. Attempt any one part of the follgw

a) 1) Find the d1rec®me of the
% es equal angles
e co-ordinate axes. 2

ii) Show that the lines

e A A\ A A A A
r=(i+2j+3k)+A(2i+3j+4k) and

—>
r

A A A /\ ﬁ: A
(2i +3j+4k)+p(31+4)+35k)

are coplanar. 2
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'b) If the curves ax? + by2 =1 and

a1x2+b1y2=1 cut each other at

right angles then prove that :

748539



